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SAH =D 94,014,432 94,085, 157 AT0,725
= 33,228,000
2 32,406,000
= 28,380,432
CRALHIZ($+SLWE/E2) 26,492,100 34,693,000 £8,200,900
= 25,128,000
= 1,364, 100
AR E22A4 20,581,000 30,000,000 £.9,419,000
= 20,581,000
SRR ERAS 16,150,000 20,000,000 /3,850,000
= 16,150,000
403 XX SHEXH=01® 16,150,000 20,000,000 £.3,850,000
=2 16,150,000
01 MXESHMA=2EE 16,150,000 20,000,000 £.3,850,000
O A2 R E2HE 16,150,000
= 16, 150,000
LA ACUMRITEAL 4,431,000 10,000,000 A5,569,000
= 4,431,000
403 REXISHSXH=0IH 4,431,000 10,000,000 A5,569,000
= 4,431,000
01 MRISHI=EE 4,431,000 10,000,000 A5,569,000
O2-HEITUHRc224 4,431,000
=2 4,431,000
HEAOI B2 5,911,100 4,693,000 1,218,100
2 4,547,000
= 1,364,100
NEHelZet = 5,911,100 4,693,000 1,218,100
= 4,547,000
< 1,364,100
403 REXISHSEXH=0IH 5,911,100 4,693,000 1,218,100
=2 4,547,000
= 1,364, 100
01 MXESHMA=2EE 5,911,100 4,693,000 1,218,100
OREHUEH AT S ALY 5,911,100
= 4,547,000
= 1,364,100
CANSATE(BELNANL/NALTA) 36,463,030 34,725,246 1,737,784
= 8,100,000
2 2,745,000
= 25,618,030
AEcASsBxY 24,720,330 22,680,430 2,039,900
HECASITHFA Y| 55,000 53,000 2,000
201 L2 20,000 20,000 0
01 AtR2telt] 20,000 20,000 0
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SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ

OSAHE20I LS ZR2AY IS 10,000

CAESAY 24,543,000 22,500,000 2,043,000

202 O4Hl 13,000 0 13,000

01 2LHoiHl 13,000 0 13,000
OSANLHRFX 13,000

403 XX SHHI S X201 24,530,000 22,500,000 2,030,000

01 AXESMIA2E = 24,530,000 22,500,000 2,030,000
OSANESAY 24,030,000
OF=JATANESMI 500,000

EXNsEE 2 11,742,700 12,044,816 A302,116
= 8,100,000
2 2,745,000
= 897,700

EX+2A2s 2 33,700 22,400 11,300

201 LEH2HH| 33,700 22,400 11,300

01 At22+2/H] 32,700 22,400 10,300
WETEIE =] 25,000
OEX+=s82dlEB NS5 25,000
Oeg+y 7,700
OEX+=S?E&d&d==a2 0 7,700

02 SZ2gH 1,000 0 1,000
02232 AA 1,000
OEXN+EMBNESR2(BLEEQ) 1,000

gelmol e 14,000 10,000 4,000

201 Yer2g| 1,000 1,000 0

02 2234l 1,000 1,000 0
O2Z223ZLHA 1,000
Oet=2=2dgslHsll 1,000

202 O4Hl 13,000 9,000 4,000

01 2LHoiH 13,000 9,000 4,000
O2dAEX0EHRFE0HI 13,000

N HI B 7 o & B AR HI & 40,000 40,000 0

308 XiXIEHAISOIA 40,000 40,000 0

05 XXISHH2A2e3 40,000 40,000 0
COHE NSt RIS SAEALISREES 40,000

L HIEH P o 22 40,000 43,000 ~3,000
2 40,000

308 NXISHHSOIE 40,000 43,000 /3,000
& 40,000
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01 AIXESMINEBEZ 40,000 43,000 A 3,000
CIOHE Mlst S 22| 40,000
= 40,000

XISt 2| K& 5,000 11,000 6,000
= 5,000

201 LBt29H| 5,000 6,000 A 1,000
& 5,000

01 At 2telyl 5,000 6,000 A 1,000
Ogdt~2H| 5,000
O st 22 HE RS 5,000
= 5,000

HE RISt 01X & ALY 2,700,000 2,568,416 131,584
= 2,700,000

403 XX SHHSKA201H 2,700,000 2,568,416 131,584
= 2,700,000

01 XRIXIESHMAZ2E X 2,700,000 2,568,416 131,584
COHE M St =01 X &AM 2,700,000
& 2,700,000

T2 RAEFHXNE S K3 ALS 8,910,000 9,350,000 A 440,000
= 8,100,000
== 810,000

403 XX SHHSK=201H 8,910,000 9,350,000 A 440,000
= 8,100,000
= 810,000

01 AXESHMA2EE 8,910,000 9,350,000 440,000
O3 REFHANS S A AAS 8,910,000
= 8,100,000
& 810,000

HOUMAUTZL (2EL XA/ AACHI]) 30,931,000 24,539,400 6,391,600
2 29,661,000
== 1,270,000

MHATHXHA X2 30,931,000 24,521,400 6,409,600
& 29,661,000
= 1,270,000

Aot AHT S EFHE X 18,914,000 14,247,000 4,667,000
= 18,914,000

403 NXISHHS K20l 18,914,000 14,247,000 4,667,000
2 18,914,000

01 AXESHMA2EE 18,914,000 14,247,000 4,667,000
OX MG sHdEE2HA 18,914,000
= 18,914,000

ABIMATHT S S A& = | 450,000 300,000 150,000

403 MXISHMS K20 450,000 300,000 150,000
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01 MXEMA=2E =R 450,000 300,000 150,000
OsMASTIESSAESE 450,000
AR AL FEF | 21,000 21,600 A 600
202 (4| 16,000 11,000 5,000
01 =Wl 16,000 11,000 5,000
OMIHANELHRFE A 16,000
203 HRF&H| 5,000 10,000 25,000
03 AMEFIHRFAY| 5,000 10,000 25,000
OAMAARNZLHHRFA 5,000
N AASHXHE MR 2L 50,000 17,800 32,200
201 LetEIH| 50,000 17,800 32,200
01 AFR22lH] 50,000 17,800 32,200
O Et==Z | 20,000
OfI&z o otHzol 20,000
O2d=¢ 30,000
OF&==Z2 0| 30,000
MEF A ST RS ALY 169,000 0 169,000
203 HRF&H| 5,000 0 5,000
03 AMEFIHRFAY| 5,000 0 5,000
CJMEAMHAHT ZL AR A 5,000
403 XXM SX201A 164,000 0 164,000
02 S| 2SO0l CHSHCH &t At S HI 164,000 0 164,000
CMEF A S XI(EIP) REAL (IR E) 164,000
sS3HA=H 11,128,000 9,690,000 1,438,000
& 10,747,000
o= 381,000
403 XXM SA201H 11,128,000 9,690,000 1,438,000
& 10,747,000
& 381,000
01 MXEMA=2E =R 11,128,000 9,690,000 1,438,000
s3HAZTH 11,128,000
= 10,747,000
& 381,000
s3HIASSAE=EHI 150,000 200,000 A 50,000
403 X EHMEAH=01H 150,000 200,000 250,000
01 MXESHMA=2E = 150,000 200,000 250,000
SEHAN =SS AL SEH 150,000
SsEXNGIYEMMUERAT A= 24,000 20,000 4,000
307 21Z2t0I & 24,000 20,000 4,000
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SAN-ZH-SA(FA) - NFAY - BES (il & OH bﬂ/‘\_“’” Hlw &2
204 A= HH| 32,400 32,400 0
01 MM PR=HAH 32,400 32,400 0
Oo=% 600,000& 1«12 7,200
CDtE 350,000 6K «12& 25,200




